
Algebra 2AB Fall Final Review 

 

Section Page  Problems    Additional Problems 

1-3  22  23,25         1. Solve and graph:   
1-4  30  7     2 8  or  1 2x x     
1-5  37  19,35 
1-6  45  5,7         2. Write an equation for the parabola with 

2-1  65  9     a vertex  3,1  and passes 

2-2  72  33,37      through  1, 4   

2-3  80  5 
2-4  87  13,14,23,25        3. Write the equation of the line through  

3-1  141  20,21      5, 2  and is perpendicular to  

3-2  149  7     8 16 21x y   

4-1  224  5,6       
4-3  242  12,19,33,39,49 
4-4  250  11,19,24,25,31,34 
4-5  260  31 
4-6  270  23,25 
Ch4Pract 295  8-11 
5-1  307  1,9,16,29,41 
5-5  346  13,21 
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Answers to EVEN problems:     Answers to ADDITIONAL problems 

2-4 pg.87 #14:  
3 22

5 5
y x       1.    6x   |   |   |   |   | 

 

3-1 pg.141 #20:   8,1       2.   
25

3 1
4

y x     

 

4-1 pg.224 #6:   0,5 ;  2x  ;  2x      3.  2 12y x   

 table of values: graph: 
 
 
 
 
 
 
 
 
 
 

4-3 pg.242 #12:  
1 1

,
3 2

x    

 
4-4 pg.250 #24:  i  

  #34:  
1

2
i  

 

Ch4 Pract #8:  
15 417

24
x

 
  

  #9:  
7 66

2 2
x    

  #10:  
3

1,
4

x    

#11:  
14

,6
9

x    

 

5-1 pg.307 #16:  
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